	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				174,612	cords	
Hardwood				20,487	cords	
Pulpwood (Total)				195,099		
Chip & Saw (Total)				159,265	cords	
Saw Timber						
Pine				49,711,075	board feet	
Hardwood				8,518,583	board feet	
Saw Timber (Total)				58,229,658		
Total Pulpwood, Chip & Saw,						\$60,604,635
Saw Timber FOB Mill						
Total Forestry Stumpage						\$33,527,909
(Total)						
Christmas Trees (Total)	*			400	trees	\$16,000
Forestry (Total)						\$60,620,635
FRUITS						
Blueberries (Total)	10	35.0	3,500.00	122,500	lbs.	\$238,875
Mayhaws						
Orchard	*	19.0	210.00	3,990	lbs.	\$5,187
Mayhaws (Total)		19.0				\$5,187
Muscadines						
Fresh	*	7.0	640.00	4,480	gals	\$35,840
Muscadines (Total)		7.0				\$35,840
Fruits (Total)		61.0				\$279,902
FEED GRAINS						
Corn (Total)	*	200.0	100.00	20,000	bu.	\$53,000
Feed Grains (Total)		200.0				\$53,000
HAY FOR SALE						
Grass (Total)	80	2,000.0	1.50	3,000	tons	\$277,200
Hay for Sale (Total)		2,000.0				\$277,200

WASHINGTON PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Home Gardens (Total)	3,500					\$700,000
NURSERY CROPS						
Woody Ornamentals (Total)	12				acre	\$8,250,000
Foliage Plants (Total)	*				acre	\$200,000
Nursery Crops (Total)						\$8,450,000
Peanuts (Total)	*	4.0	1,200.00	4,800	lbs.	\$816
Sod Production (Total)	*	575.0			acre	\$2,875,000
VEGETABLES						
Cantaloupe (Total)	*	10.0	110.00	1,100	cartons (40	\$19,173
					lbs.)	
Collards						
Fresh	10	8.0	275.00	2,200	doz. bunches	\$15,400
Collards (Total)		8.0				\$15,400
Irish Potatoes						
Fresh	15	8.0	150.00	1,200	cwt.	\$42,000
Irish Potatoes (Total)		8.0				\$42,000
Mustard (Fresh) (Total)	15	12.0	550.00	6,600	doz. bunches	\$46,200
Pumpkin (Fresh) (Total)	*	4.0	200.00	800	cwt.	\$20,000
Southern Peas (Fresh) (Total)	12	40.0	75.00	3,000	bu. (24 lbs.)	\$75,000
Squash (Fresh)						
Yellow Squash	9	7.0	105.00	735	bu. (45 lbs.)	\$16,538
Squash (Fresh) (Total)		7.0				\$16,538
Sweet Corn (Fresh) (Total)	12	12.0	420.00	5,040	doz. ears	\$17,640
Tomatoes (Field) (Total)	*	3.0	1,200.00	3,600	lugs (20 lbs.)	\$72,000
Turnips (Fresh) (Total)	15	10.0	350.00	3,500	doz. bunches	\$24,500
Watermelon (Total)	85	785.0	165.00	129,525	cwt.	\$1,036,200
Vegetables (Total)		899.0				\$1,384,651
TOTAL ALL PLANT ENTERPRIS	ES					\$74,641,204

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Measure	Gross Farm Value
ft.	\$563
acre	\$770,000
	\$770,000
	\$770,563
Units of	Gross Farm
Measure	Value
head	\$1,043,921
head	\$557,775
head	\$612,205
head	\$549,900
	\$2,763,801
head	\$971,201
head	\$365,243
head	\$578,105
head	\$399,672
	\$2,314,221
head	\$389,805
head	\$291,971
	\$681,776
pair	\$285,063
head	\$775,413
	head head head head head

WASHINGTON PARISH

14,000 No. Cows

350

Cull Bulls (Total)
Cattle & Calves (Total)

DAIRY

60 head

\$50,733

\$6,871,006

WASHINGTON PARISH

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
DAIRY						
Dairy Cows						
Milk	75	8,775 No. A	dult Cows	107,567,033	pounds	\$15,769,327
Bred Heifers				424	head	\$735,640
Adult Cows				593	head	\$830,200
Cull Cows				2,430	head	\$1,366,875
Bull Calves				3,946	head	\$197,300
Breeding Age Bulls				45	head	\$49,500
Dairy Cows (Total)						\$18,948,842
Dairy (Total)						\$18,948,842
HORSES						
Brood Mares						
Race Horses	*	30 No. B	rood Mares	20	head	\$160,000
Show Horses	6	52 No. B	rood Mares	20	head	\$80,000
Recreation Horses	*	52 No. B	rood Mares	30	head	\$45,000
Brood Mares (Total)						\$285,000
Stud Fees						
Race Horses	*	2 No. St	tallions	10	mares bred	\$25,000
Stud Fees (Total)						\$25,000
Race Horses (Total)	*			12	head	\$144,000
Show Horses (Total)	*			20	head	\$100,000
Recreation Horses (Total)	50			230	head	\$345,000
Horses (Total)						\$899,000
SHEEP						
Wool (Total)		80 No. Si	heared	400	cwt.	\$100
Slaughter Lambs (Total)				30	head	\$4,688
Feeder Lambs (Total)				12	head	\$900
Show Lambs (Total)				35	head	\$10,500
Cull Sheep (Total)				60	head	\$3,000

Sheep (Total)	*	80 No.Breeding		\$19,188
		Ewes		
GOATS				
Show Goats (Total)		6	head	\$1,500
Slaughter Goats (Total)		100	head	\$12,500
Stocker Goats (Total)		50	head	\$4,750
Cull Goats (Total)		15	head	\$975
Goats (Total)	*	60 No. Does		\$19,725
SWINE				
Show Pigs (Total)		350	head	\$98,000
Feeder Pigs (Total)		90	head	\$2,700
Slaughter Hogs (Total)		25	head	\$3,006
Swine (Total)	*	50 No. Sows		\$103,706
TOTAL ALL ANIMAL ENTERPRISES				\$26,861,466

WASHINGTON PARISH \$102,273,232 313